TITLe: ETT939L-KCWA-X

NOTES !
. ALL DIMENSITONS +/- . OMM UNLESS NOTED
2. DIMENSTONS SHOWN ARE FOR ALL TOUCH TECHNOLGIES UNLESS NOTED.

50 .0 FOR:
- ACCUTOUCH
- INTELLITOUCH
415 - SURFACE CAPACITIVE /05D CONTROLS
[® S S %] _ C000000O0 T En e D © 0000000000060
5 . 5 0000000 - - O0O0O0O00000000O0
il 9 - \ go 000000 5 ©© ol g 000000000000 og
) ® 00 00®
M. I ©0O0 00O
2 oo ®0O0 00 ®
) vo00| © 00O
J ' @00 OO0 ®
Z]' o oo o0 of
(o]
376 _— ]
o (ACTIVE AREAO q 208 S pe
(CENTERING LIP) @) ©
343 © oo
30 oo
(ACTIVE AREAO ® o0 |
00
) @00 o o H o0
) ©0O0 oo
\ Q00 /@ @\ @
P ° : ooo © o 2 © ® ®
' Q00 N— ©
) @02 ® ®
— (11— —
o u { |' o
[ 1
o E . [0}
P& : J| 9 o| T E L = |,
SEE DETAIL A
BE/EL WITH WIPER BLADE SEAL
REMOTE OSD
1 2VDC POWER VGA SERITAL / USB TOUCH (REMOTE P/N 622897
ORDERED SEPERATLY)
Il ?eooeeee @’ u@@ 0o6o oce
| e M- o) M °®]
| L 384 J
(CENTERING LIP)
| () —= =
DETAIL A
(CENTERING LIP)
SCALE 2.000
ETyco
Electronics
MS500786
DIMENSTONS ARE IN MILLIMETERS SHEE T | OF & [DATE: 02/01/08
REV: E




TITLe: ETT939L-XKCWA-X

SECURE TOUCH OPTION

514
U o U e)J U o) u
%’369@ 0 @:|[d eeemoaej
ETyco

Electronics
MS500786

DIMENSTONS ARE [N MILLIMETERS SHeel 2 OrF 8 [DATE: 02/01/08
REV: E




TITLe: ETT939L-XKCWA-X

IR _OPTION
[ ]
r\l 1

DIMENS TONS ARE

I[N MILLIMETERS

I o) I o5 U

giElp o O 008

Geo®0060606 S

SHEE T 3 OF 8

ETyco
Electronics

MSS500 786

DATE: 02/01/08

REV:. [




TITLe: ETT939L-XKCWA-X

APR OPTION

48 .0

ETyco
Electronics

MSS500 786

DIMENS TONS ARE [N MILLIMETERS SHEET 4 OF & [DATE: 02/01/08

REV:. [




TITLe: ETT939L-XKCWA-X

LVDS OPTION

00000000 ““mqu.¢ 0000000000000
0000000 - - O0O0O0O0O0O0O0O0000O0
go 0O0O000O0 ‘= lOOCNDCNJ O0O0O0O0O0OO0O0O0O00O0 og
® 00 oO0O®
Q000 00O
@200 00 ®
00| © 00O
® 00 OO0 ®
Ho 0 O 0 0 Of
© © 00
00
oal
000 A 83
Q00 o0
000 8
@00 © © ©
Q00 o
@00
— = T (|
o (o]
1
o (o]
ol II—II 3I:I:I:[J o
\SEE USER GUIDE
FOR LVDS CONNECTION DETAILS.
66000666
-
®
ETyco
Electronics
MS500786
DIMENSTONS ARE IN MILLIMETERS SHEET 5 OF &8 [DATE: 02/01/08
REV: F




RECOMMENDED CUSTOMER
PANEL CUT-OUT (scc wore 2

4257
+ +
xx\pR5
(¥4)
+
R 309 +1/-0
385 +1/-0
170 0 - ]
B
L
+ +

MOUNTING BRACKET ADJUSTMENT RANGE

_— e =

3.0
(SEE NOTE E)

O
1o

g

—_—

NOTE D)

353. 1

REAR MOUNT WITH BRACKETS,

TITLe:

C 19390 - XCWA-X

NOTE A
CUSTOMER PANEL MATERTAL:

| WOOD: @ 4.5 HOLES THRU
FOR M4 SCREWS W/NUTS,
OR, NO THRU HOLES, SCR
FOR WOOD & dmm,

2. SHEET METAL: CONCEALED

THREADED STUDS M4 W/NU
NOTE B
MONITTOR INCLUDES 2 BRAC
ADDITIONAL BRACKETS AVAI
P/N ET4721]
NOTE C
33.3 mm - SECURE TOUCH
33.2 mm = IR
30.2 mm = APR
NOTE D
159 mm = SECURE TOUCH
15.8 mm = IR
2.5 mm = APR
NOTE E
|6 mm = SECURE TOUCH
7 mm = R
5.0 mm = APR

HORIZONTAL AND VERTICAL ¢see wote )

BRACKE TS

C000000O0
0000000
000000

I[N HORTZONTAL POSTTIONS

C0C00O0OO0OO0O00O0O0CO0O0O
OO0OO0OO0O0OO0O0O0O00O0O0
OO0OO0OO0OO0OO0O000O0O0O0

DIMENS TONS ARE

I[N MILLIMETERS

BRACKETS

VERTICAL POSTIONS

VESA MOUNT SIDE MOUNT
VERTICAL
. = 100.0 ——= M4 THREAD.
75 ) o] MAX . SCREW DEPTH = Tmm.
| X8
HEAD — AW ! + 4 — T —
15. ©C00000O0O0 wwd o o 0000000000000 0O0
0000000 5 “WC 51 [6 0000000000000
30 000000 < G606 OW‘ ooog;ooooooo og
KETS ® 00 ‘ 000
0O O0O0
LABLE 000 ‘ 00®
ooo| © | 000
@00 OO0 ®
HO O O O 0O ODOR
N\ /
W\
© ol B %
CoR 75 0 142 .0
© gg;l 1000
000 ® ® i 60 XL
oNe)
o0 . S| % . T
Q0O \ !
Q0O © | ©
| ) ) |
L Lo —
o E ‘| | |’ o
r - 121 .4 00 4
(o] . ; . [»] l
ol = j L - |,
= — — ‘ o — — =
¢ 3.9 —e e
(SEE NOTE C)
SIDE MOUNT,
HORIZONTAL
|
66006 6®6 -6
®
— 3] 9
1420 ———== (SEE NOTE C)
N
ETyco
Electronics
MS500786
SHEET © OF & [DATE: 02/01/08
REV: [




BLACK ANODIZE FINISH

TITLe:

C 19390 - XCWA-X

R9.3

x4 =

i N

387

454

CUSTOMER PANEL CUT-OUT
AND MOUNTING HOLES

A34+] /-0

RIS MAX.

/ X4

362+

/-0

DIMENS TONS ARE [N MILLIMETERS

1500

464 .6

(ORDERED SEPERATLY,

FRONT MOUNT OPTION
P/N El63604

FRONT

(INCLUDED WITH FRONT MOUNT ASSY.)

@50 NOTE:

CUSTOMER ASSEMBLED)

MOUNT BRACKETS

(X4)

X8 | [F CUSTOMER PANEL MATERITAL IS WOOD:
@ 4. 5mm HOLES THRU FOR M4 SCREWS,
OR NO THRU HOLES, SCREWS FOR WOOD ¢ 4mm.

2. P CUSTOMER PANEL MATERTAL IS SHEET METAL:

CONCEALED HEAD THREADED STUDS M4 WITH NUTS.

- 0)
~ A
0) ©
00000000 -a o o 000000000000 00
o\ 0000000 E @000 @E 0000000000000 /4
00\, 000000 000000000000 /e
©00 ooo
000 ooo
000 00®
oool @ ooo
o S soele
S p
o “o\! 4&°
© 00
00
- oo
00
000 ° ° B oo
000 00
000
000 ® o
000 Py
@ 000 e e 9)
000
- ,§=m=mwﬁ iy - -
o °
r 1
o ﬂ o
o| 1 H L - [,
&) ©
\- J
o o)

—FRONT MOUNT ASSY.

ET1939L MONITOR

CUSTOMER PANEL;
FRONT MOUNT BRACKETS ACCOMMODATE
MAX. [4dmm MATERTAL THICKNESS.

ETyco
Electronics

MSS500 786

SHEET 1 OF & [DATE: 02/01/08

REV:. [




TITLe: ETT939L-XKCWA-X

RACK MOUNT OPTION
P/N E579652

(ORDERED SEPERATLY, CUSTOMER ASSEMBLED)

483

BLACK ANODIZE FINISH—

[
O
O

266.0
146 .0

O
O

399

&=

il

465.0

|

|_I.I

@ —
—7J >

©
669000666

DIMENS TONS ARE [N MILLIMETERS

34.

9

48 .

O -

Sl

SHEE T & OF 8

ETyco
Electronics

MSS500 786

DATE: 02/01/08

REV:. [




